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1)

2)

3)

4)

5)

If % = x , what is the value of 4x +27?
A) 2

B) 3

C) 4

D) 12

E) 14

In the coordinate plane, what is the
midpoint of the line segment with endpoints
at(3,4)and (0, 0)?

A) (1.5,2)

B) (5,0)

C) (25,0)

D) (3.5,35)

E) (1.75,1.75)

xV4 - x\/9 =
A) -bx

B) -xV5

C) —x

D) X

E) 3x

If n is an even integer, which of the
following must be an odd integer?
A) 3n-2

B) 3(n+1)

C) n-2

D)
E)

S wis

If bequals 40 % of a, then in terms of b, 40
% of 4a is equal to which of the following?

A) %
B)
C)
D) 4b
E) 16b

o T
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6)

7)

8)

9)

If the circle with center O has a diameter of
9, then what is the area of the circle with
center O?

A) 81rn

B) ; T
81

C) ”

D) 18w

E) 97w

If a= 4, and 3b = 2, what is the value of a?
A) 16

B) 64

C) 8

D) 2

E) 4

Iff(x) = x>+ 2, which of the following
Could be a value of f(x)?

A) -2

B) -1

o]

D) 1

E)

I x2+x—6
x2-8x+12

A) 3
B) 6
c) 9
D) 12
E) 15

=4, what is the value of x?
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10)

11)

12)

13)

If c=§+% and x>y > 0 , then which

of the following is equal to %?
A) x+y
B) x-y
o)

x+y
Xy
X
p) =
x+y
1 1

£) +5

The average of Mariam’s scores on 3 tests is
85 . If she scored 90 on both of the first two

tests ,what was her score on the third test ?
A) 70

B) 45

C) 80

D) 85

E) 90

If 4( x + 3 ) = 15, then what is the value of
4x+37?

A) 0.75

B) 1.50

C) 6.00

D) 10.00

E) 15.00

In a road race, a 54,000 prize is split among
the first three finishers in the ratio of
5:2:1. Whatis the greatest amount in
dollars that any of the three prize winners
receives ?

A) 500

B) 1000

C) 1500

D) 2000

E) 2500
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14) A jar contains marbles that are either red ,

15)

white or blue .If the ratio of white marbles

to the red marbles is 3 to 5 and the ratio

of red marbles to blue marblesis 6 to 5,

then what is the least possible number of

marbles in the jar?

A)
B)
¢
D)
E)

18
25
63
73
80

If x is 5 less than y, then what is the value of
5(x—-y)?

A)
B)
¢
D)
E)



